%1073

= 0.2 ~ 0.2
ks Ao F
3015 (U1 (R SN URRR SO SR
S o o
o o
© 01 v 0l
0.05] 0.05F
0 OF
-0.05 -0.05F
-0.]] -0.1~
—0.15] -0.15F
o702 o702
T T £ e
x 2 o [ :
B 05:— ----- ‘
0 -1 2 3 O-—l
10 1 TPlé)T (PCA t%obeamlinéf) 10
—=— DQM_TT__ORIGINAL
—e— DQM_TT__MODIFIED_layerProcv2
—— DQM_TT__MODIFIED_layerProcv2_OctoberVersion
—~ 100f
e F
= 80
A n
- 60F
o u
v 40
20F
OF
-20F
-40F
-60F
S0 RRIEELTEE CEERLEEIEE SREE UL § BRUIERLEERS -80F
9_100: 1 ryl EEERTTT | 9_100; 1
I ET +1 |k : g 2p
a4 1:_' s kN 24 u
054 L i - e
O:_l i B 3 N 0-_1 | . ,
10 ! 10 ! TPl[g)T (PCA f%)obeamlinép

< > (Y
o p,/p, > (%)
O = N W N O

T I




	Contents
	Page 1


